

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

Events Enchanted 400 S. SYCAMORE AVE. LOS ANGELES , CA. 90036

Order Date: December 4, 2024 Due Date: Upon Receipt

PO:

Shipping Address: Sheraton Universal Hotel 333 Universal Hollywood Dr, Universal City, CA 91608

EVENT DATE: DECEMBER 22ND, 2024

INSTALL: TIME TBD PICK UP: TIME TBD

Description		Qtty	Price		Total
CHUPAH AREA					
	WHITE ASTRO TURF 36FT X 50FT	1	\$2,250.00	Т	\$2,250.00
	WHITE Carpet Cover for Riser, 12ft x 16ft *STAGE FROM HOTEL*	1	\$384.00	Т	\$384.00
	WHITE Carpet Aisle Runner, 70ft x 8ft **CONFIRM GROUND LEVEL-NO STAGE* *	1	\$1,120.00	Т	\$1,120.00
	CLEAR INFINITY CHAIRS WHITE CUSHIONS	350	\$6.00	Т	\$2,100.00
			Total CHUPAH AF	REA	\$5,854.00
TISH					
	LINENS (QTY TBD)	6	\$28.00	Т	\$168.00
			Total T	ISH	\$168.00
BADEKIN AREA					
	Carpet Cover for Stage, 12ft x 16ft BADEKIN AREA STAGE PROVIDED BY THE CLIENT	1	\$384.00	Т	\$384.00
	WHITE CRINKLE TAFFETA 132" ROUND LINENS FOR COCKTAIL TABLES PROVIDED BY CLIENT	12	\$25.00	Т	\$300.00
	Aria Sofa, Off White 8' (FOR BRIDE) **NO GOLD = PLEASE COVER ALL WHITE**	1	\$350.00	Т	\$350.00
6	Aria Arm Chair, Off White (FOR FAMILY) **NO GOLD = PLEASE COVER ALL WHITE**	4	\$150.00	Т	\$600.00
A	Ghost Dining Chair, Clear (FOR LOW BOY COCKTAIL TABLES)	24	\$8.00	Т	\$192.00
	WHITE VELVET PILLOWS (FOR SOFA + ARMCHAIRS)	6	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Los Angeles Bar, White - 8ft	1	\$350.00	Т	\$350.00
	Dior Back Bar, Silver	1	\$250.00	Т	\$250.00
T M	Tulip Serpentine Dining Table, Silver "SETS" (FOR SUSHI) EACH SET TO INCLUDE 2 PIECES- PLEASE CONFIRM QTY	2	\$650.00	Т	\$1,300.00
		Т	otal BADEKIN A	REA	\$3,726.00
HALLWAY/LOB	BY AREA				
	Sofia Crystal Communal Table	2	\$200.00	Т	\$400.00
(meres) (meres)	Sofia Crystal Dining Table - Rectangle	2	\$250.00	Т	\$500.00
	Los Angeles Bar, White - 8ft	1	\$350.00	Т	\$350.00
	Monet Back Bar	1	\$225.00	Т	\$225.00
		Total HALLWAY/LOBBY AREA			\$1,475.00
BALLROOM AR	EA				
	CUSTOME CLEAR MEHITZA (28FT X 5FT) EACH PIECE 5FT X 4FT	3	\$1,200.00	Т	\$3,600.00
	CLEAR 4FT X 5FT WATER WALLS WITH ADDED WHEELS	4	\$450.00	Т	\$1,800.00
	132" ROUND LINENS (LAMOURE) *VELVET ADDITIONAL COST \$65*	27	\$28.00	Т	\$756.00
	NAPKINS (NAVY)	400	\$2.75	Т	\$1,100.00
	Lucite Dining Table, 4'x8'	6	\$350.00	Т	\$2,100.00
	Napoleon Dining Chair, Clear (FOR LONG TABLES)	60	\$6.00	Т	\$360.00
1	NAVY BLUE CUSHION COVERS (FOR NAPOLEON CHAIRS)	60	\$2.00	Т	\$120.00

Description		Qtty	Price		Total
A	Ghost Dining Chair, Clear(FOR ROUND TABLES)	270	\$8.00	Т	\$2,160.00
	White Dance Floor, 36FT X 30FT	1	\$3,250.00	Т	\$3,250.00
	WHITE CARPET 12FT X 24FT COVER *STAGE PROVIDED BY HOTEL*	1	\$650.00	Т	\$650.00
	MELODIA CLEAR WINE GLASS	350	\$2.95	Т	\$1,032.50
Q.	Melodia Water Goblet, Indigo Tint	200	\$2.95	Т	\$590.00
	MELODIA WATER GOBLET, INDIGO TINT *OUTSOURCED*	150	\$2.95	Т	\$442.50
	SILVER SCALLOPED GLASS CHARGERS	350	\$5.00	Т	\$1,750.00
	Los Angeles Bar, White - 8ft	2	\$350.00	Т	\$700.00
	SILVER Monet Back Bar	2	\$225.00	Т	\$450.00
		Tot	al BALLROOM AF	REA	\$20,861.00
	Emory Communal Table (ALL WHITE)	2	\$450.00	Т	\$900.00
			Total LATE NIGHT		\$900.00
Services					
	Trucking Fee	3	\$275.00	Т	\$825.00
	Event Installation Fee (BASED ON 12HR DAY - FIRST DAY)	10	\$310.00		\$3,100.00
	INSTALLATION FEE (BASED ON 6HR DAY - SECOND DAY)	4	\$200.00		\$800.00
	Event Breakdown Fee	10	\$225.00		\$2,250.00
	Event Breakdown Fee LABOR FOR STANDBY	10 3	\$225.00 \$175.00		\$2,250.00 \$525.00

Notes

Total Products:	\$32,984.00
Total Labor/Services/Misc:	\$7,500.00
Taxes :	\$3,211.86
Discounts:	(\$0.00)

Total:	\$43,695.86
Payments:	(\$0.00)
Balance:	\$43,695.86